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Show your work. Note, there is bonus possible if you get all correet,
Problem 1: (5pt) Find 3 in degrees tor the following oblique triangle:
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Problem 2: (5pt) Find the standard angle (in degrees) and magnitude of A = (—/3, -1)
A = -JE—J?)2+(-I]’1 = 3+ =Y U
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Problem 3: (5pt) Find the cartesian form of the complex number 2 with |2| = 3 and £z = 240°
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Problem 4: (5pt) Find the polar form of the complex number ] o 2
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Problem 5: (5pt) Let z = 125¢*™/4, Find the Cartesian form of ¥z and plot all three elements of
'/3 in the plot below: 2L .
2'/% in the plot below T =3
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